Wheel Locks

Attaching hardware



Wheel Locks

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 7930364-NLA | NLA - Package, Locknut (1/4-20) 25 1
1 B 7930323-NLA | NLA - Package, Locknut (1/4-20) 25 1
2 A 7930367-NLA | NLA - Locknut (1/4-28) 25 3
2 B 7930334-NLA | NLA - Locknut (1/4-28) 25 3
3 A 7930357-NLA | NLA - Washer, Nylon (1/4 x 1/2 x 1/32") 25 7
3 B 1026103 Washer, Nylon (1/4 x 1/2 x 1/32") 1 7
4 See Chart #4,8, & 13 Mounting Bracket, Handle & Wheellock 1 1
Assembly
5 A [60274X012-NLA | NLA - Screw, Hex Head (1/4-28 x 3/4") 1 3
5 B 1028687 Screw, Hex Head (1/4-28 x 3/4") 1 3
6 A 40157X004 Spacer, Nylon (1/4 x 7/16 x 1/8") 1 1
6 B 1026105-NLA | NLA - Spacer, Nylon (1/4 x 7/16 x 1/8") 1 1
7 47376X024 Tip, Rubber Wheel Lock Handle, Black 1 1
8 See Chart #4,8, & 13 Mounting Bracket, Handle & Wheellock 1 1
Assembly
9 A 1010398 Washer, Nylon (1/4 x 1/2 x 1/16") 1 3
9 B 1026033 Washer, Nylon (1/4 x 1/2 x 1/16") 1 3
10 A 1007017-NLA | NLA - Screw, Hex Head (1/4-20 x 1-1/4") 1 1
10 B 1021406 Screw, Hex Head (1/4-20 x 1-1/4") 1 1
11 A 1016592-NLA | NLA - Link, Chrome 1 1
11 B 1021404-NLA | NLA - Link, Black 1 1
12 A 1015443-NLA | NLA - Shoe 1 1
12 B 1021405-NLA | NLA - Shoe, Wheel Lock 1 1
13 See Chart #4,8, & 13 Mounting Bracket, Handle & Wheellock 1 1
Assembly
14 A 7930351-NLA | NLA - Nut, Hex Flange (1/4-20) 25 1
14 B 1021403 Nut, Hex Flang (1/4-20) 1 1
15 A 7930309-NLA | NLA - Bolt, Carriage (1/4-20 x 1-1/2") 25 1
15 B 1021402 Bolt, Carriage (1/4-20 x 1-1/4") 1 1
C,D.E, 7400109 Kit, Wheel Lock Shoe Spacer (Pair) 2 2
F
Screw, Set Socket Cup Point (#8-32 x 3/16") 1 4
Spacer, Wheel Lock Shoe (2-7/16") 1 2
C,D,E, 1037422 Kit, Wheel Lock Shoe Spacer, 22" Rear Wheels 2 2
G (Pair)
Spacer, Wheel Lock Shoe (1-45/64") 1 2
Screw, Set Socket Cup Point (#8-32 x 3/16") 1 4
C 7930306-NLA | NLA - Package, Screw, Set Socket Cup Point 25 2
(#8-32 x 3/16")
NOTE: A - Chrome Chairs
B - Black or Color Chairs
C - Not Shown
D - Includes set screws
E - These items are not included with wheel lock, they may be needed if chair has 20 inch or 22 inch rear wheels

F - 20" Rear Wheels
G - 22" Rear Wheels




Wheel Locks
#4.,8, & 13 Mounting Bracket, Handle & Wheellock Assembly

13) Wheel Lock

Wheellock Type Side 4) Mounting Bracket (8) Wheel Lock Handle Assembly
Push to Lock: Chrome Right 1015445-NLA 1016588-NLA 1045861-NLA
See Note(s) A
Left 1015446-NLA 1016589-NLA 1045862-NLA
See Note(s) A
Push to Lock: Black Right N/A N/A 1023493
Left N/A N/A 1023494
Push to Lock: Color Right 1031787-NLA 1021408-NLA 1031792
Left 1031788-NLA 1021409-NLA 1031793
Pull to Lock: Chrome Right 1015445-NLA 1016590-NLA 1045857
Left 1015446-NLA 1016591-NLA 1045858
Pull to Lock: Color Right 1031787-NLA 1031780-NLA 1031794
Left 1031788-NLA 1031781-NLA 1031795

NOTE: A - No Longer Available. Use part #'s 1023493 and 1023494 as replacements.




